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Exercise 1: Let R be the relations from A ={0,1,2,3,4}to B ={1,2,3,4,5} defined as
follows aRb<a>b

I.  Listall order pairs of R
Ii.  Represent the relation R by matrix

Exercise 2: Let R be the relations from A ={1,2,3,4} defined as follows

XRy &x?+y?<13

I.  List all order pairs of R
ii.  Represent the relation R by matrix
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Exercise 3: Let R be the relations from A ={0,1,2,3,4,5,6,7} defined as follows
XRy ©2x -y =4

I.  Listall order pairs of R
Ii.  Find the domain and range (image) of R
lii.  Represent the relation R by digraph
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Exercise 4: Let R be the relations from A ={-2,-1,0,1,2,3,4} defined as follows

aRb < a?=b

I.  Listall order pairs of R
Ii.  Find the domain and range (image) of R
lii.  Represent the relation R by digraph
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Exercise 5: Let R be the relations from A ={-2,-1,0,1,2} to B ={2,3,4,5} defined as
follows

aRb <b=a%+1

I.  Listall order pairs of R
Ii.  Find the domain and range (image) of R
Iii.  Represent the relation R by matrix
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Exercise 6: Let R ={(x,y);|x —y|<1} and S ={(x,y); 2x +y <6}be two relations
defined on a set A ={1,2,3,4}

I. Listthe elementsof R and S

ii. Find M, ,Mg and M
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Exercise 7: Let S ={(x,z),(y .x),(y,y).(z,y)} bearelationon C ={x,y,z}

i. FindS™oS

ii. FindS?
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Exercise 8: Let S ={(1,1),(1,2),(3,1),(3,3)} be arelation on C ={1,2,3}. find:

iii. S-S

Exercise 9: Let S ={(uv),{,x),(x,y).(y,u)} bearelationon C ={uyv,x,y}. find:

. M

S

iii. SOS™
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Exercise 10: Let S ={(11),(13),(2,2),(2,3),(3,2)} be arelation on C ={1,2,3}. find:

. M

S

i. SNS™

iii. SNS™

Exercise 11: Let S ={(a,b),(a,c),(b,a)(c.a)} be arelationon C ={a,b,c}. find:

i. S?
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Exercise 12: Let S ={(a,c),(a,d),(b,b)(c.a).(c,d)} and
T ={(a,b),(b,a),(b,b),(b,d),(d,a),(d,c)} bearelationon C ={a,b,c,d}. find:

i s-T*

iii. S®T remark (S®T =S UT)-(SNT))

Exercise 13: Let S :{(a,d),(b,a),(b,b)(b,d),(d ,a),(d ,d)} be a relation on
C ={a,b,c,d}. find:

i. S'osS

ii. SoS™



